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1. If'a firm had decreasing returns to scale at all levels of output, and it divided up
into two equal sized smaller firms, what would happen to its overall profits? (5 points)
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2. A Monopolist is operating at an output level where |£}=3. The government
imposes a quantity tax of $6 per unit of output. If the demand curve facing the
monopolist is linear, how much does the price rise? (5 points)

3. Suppose that there are only two goods, X, and X, , and that utility is given by
U(X11X2}=ﬂ| l{:-g{Xl _},])+J82 ]ng(Xz "'}’rz]s
where f#,.8, >0 and # +f8,=1 and X >y >0,X, >y, >0.

a. Find the utility-maximizing choices for X, and X, . (5 points)

b. Show that the y’s represent minimum necessary expenditures on X, and X,
and that the /s represent marginal budget shares for each X for expenditures
above the minimal amounts. (5 points)

4. In a perfectly competitive market, industry demand is given by Q =1,000-20P.
The typical firm’s average costis AC =300/0-+(/3.

a. What is the minimum-value of average cost? (5 points)

b. Suppose ten firms serve the market. Find the market supply curve. (5 points)

¢.  What is the typical firm’s profit-maximizing profit? (5 points)

d. Determine the long-run, zero-profit equilibrium. How many firms serve the
market? (5 points)
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profit implications of their different R&D strategies:

Firm B’s R&D Spending
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5. Two firms dominate the market for surgical stutures and compete aggressively
with respect to research and development. The following payof¥ table depicts the
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Low Medium High

Firm A’s R&D Low 8,11 6,12 5,14
Spending Medium 12,9 8,10 6,8
High 11,6 10,8 46

what is the outcome? (5 points)

will occur?  Explain. (5 points)

a.  Suppose that no communication is possible between the firms; each must choose
its R&D strategy independent of the other. What actions will the firms take, and

b. If the firms can communicate before setting their R&D strategies, what outcome
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